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Catherine: Hello, I'm Catherine and welcome to Question and Answer of the Week.
Jean: And I'm Jean.

Catherine: And our question today comes from Kristy in Hong Kong, who is confused
about something she read in the news.

Jean: Let’s see if we can help. ibFA1ZeWr— & Kristy SEIFIX B, ARERITHEE
Kristy 7T5a A 14 ol @253 A 1o

Question

Newsreader: Mr Jones saw lorry drivers fall asleep in their cabs, having given up hope of
getting out of the queue during the night.

Questioner: When | was reading the news | found that | don't understand the sentence
of "having given up hope of ..." Does it mean that Mr Jones has to give up hope of...?
Could you please elaborate the structure of this sentence?

Many thanks,
Kristy (from Hong Kong)

Jean: Bk Kristy £33 X BHE, AXREFANAELR ERPEAKIN, JFRTHEGE 17
LA, S E3LKEE T . How is this expressed in the news story,
Catherine?

Catherine: The story says that Mr Jones saw lorry drivers fall asleep in their cabs,
having given up hope of getting out of the queue during the night.

Jean: M24AK Kristy BIiR) @k 2 A <X B2 KX EIE ‘having given up hope of’,
Xof iy ?

Catherine: Yes. Phrases with ‘having’ plus a verb can be used to show the order of
events in the past, and the connection between the events.

Jean: AU, IR IR 2 R A S RS IR A 2 1] R R R IR T 7 ARAEAESS AT
YPEF 2
Catherine: OK. First, the lorry drivers gave up hope. Then they fell asleep in their

cabs. And we can describe these two events quite simply. We could say
"After the lorry drivers gave up hope, they fell asleep in their cabs".

Jean: S, XAENT 2R S
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Catherine:

Yes it is. Simple cause and effect.

Jean: Xf, JRAMEERIEFEE — Lk MFRENFESE T E - HEEIRE. Al —E
HHC AR5 RTESE 1 A I A RLZ AR 2 Mr Jones, fRiilg?

Catherine: That's possible, yes. It could be about him.

Jean: ANTEIX BB I8 HL A B RO AR TRAE 1 R BAAE: B AN 0T £ 2 BB B R R mIALTT . P BLIX
FEERRE, NAZR R ERINUTBGEE T EIOAE, IR AT 1T 7 2 HLBE 5 1) S A
e

Catherine: Exactly. And if you want to use more advanced English to express this
simple cause and effect relationship...

Jean: LA LA B S 1E ‘give up hope’.

Catherine: Right, and you make it into a phrase, starting with ‘having’. Having given
up hope, the lorry drivers fell asleep in their cabs. It means: first they
gave up hope and then they fell asleep.

Jean: Having given up hope, the lorry drivers fell asleep in their cabs. {/RTEIXH]
W, HEE given LR, ARZHN give 5 gave.

Catherine: Yes. It's ‘having’ plus a past participle. Having given, having taken, having
seen. You're making participle clauses.

Jean: ‘Having’ J& [ gR a1 1)t 2 0 . FniE 1! i HIXFE—k, 7 G X A) it
ALLRT G B s U, R AR

Catherine: Yes. Having given up hope, the lorry drivers fell asleep. Or: the lorry
drivers fell asleep, having given up hope.

Jean: ARAEZ BOF I JFESCH, 55— A3 fall gt 0 DU ] BT AN 2 i 0e ?

Catherine: That's because Mr Jones saw them. Mr Jones saw them fall asleep.

Jean: AR I 2 ‘Mr Jones saw’ B S6AEF BIMA T IEAEMH 4, SRR Tt
To M

Catherine: I'm glad you've got it Jean, because now we’re going to do some practice.

Jean: W5 T, EEL] . WAVE AL ?

Catherine: I'm going to give you two sentences, and you have to join them together
using a participle clause — having with a past participle.

Jean: BRI NA) TIEE—E, BHSREIMXFENRIBEEN ., %W, Let's go!

Catherine: OK. Here’s the first one. | took the wrong train. | was late for work.
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Jean: RIEH T . F EYHEF]. | took the wrong train. | was late for work. B3 i%
J#... Having taken the wrong train, | was late for work. Is that right?

Catherine: It's perfect! Having taken the wrong train, | was late for work.

Jean: WIEH T %, il BEIEEE] 1. Another one please?

Catherine: OK another one. David ate a huge meal. Then he slept for three hours.

Jean: David ate a huge meal. Then he slept for three hours. Having eaten a huge
meal, David slept for three hours.

Catherine: Excellent! Having eaten a huge meal, David slept for three hours.

Jean: K P, Z5RKHE=/ . BHREEREE T

Catherine: And we can swap the parts of the sentence round to say:

Jean: David slept for three hours, having eaten a huge meal.

Catherine: Excellent. One more, Jean?

Jean: WA R, POk

Catherine: OK. William finished university, and he decided to go travelling.

Jean: Having finished university, William decided to go travelling. 2t a] LLXkE
P William decided to go travelling, having finished university.

Catherine: Both perfect. Absolutely perfect!

Jean: %4 Catherine. &, |ATATLLAIN having 1518 I A) Rk 238 KA 78 2 1w 4
H,

Catherine: Yes, especially when there is a cause and effect relationship between the
two events.

Jean: TR TX P 1 AE AT R SR G 2R IR B gk

Catherine: So, having answered Kristy’s question, we’ve come to the end of the
programme.

Jean: N H T —1ik Catherine. Kristy, A BEEATES R H A B IR ] @it 72 %
SR A AN RAT B S T TR ), B A] AZSFRATTHIE A St FRATT A A ik 2
questions.chinaelt@bbc.co.uk. &7k # W.!

Catherine: Goodbye!
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